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0 1 The lakeﬁve kilometers north of my hometown.

O lied O lies
0 laid 0 lay

0 2 It is very kind you to come.

O for O to
O by O of

0 3 It is more than ten years we last met.

O since O until
O before 0 because

O 4 This machine will us a lot of time and labor.

O get 0 teach
U save 0 make

0b to e-mail, we can communicate with people all over the world.

O Because O Thanks
O On account O Owe
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0 1 She El this work before you leave.

O finished O was finishing
O  will have finished 0  had finished

0 2 Jane anything yesterday because she felt sick.

O has not eaten 0 is not eating
[0 does not eat 0 did not eat

0 3 The boy when he felt off his bicycle.

O  hurting O  hurt
O  hurts 0 got hurt

O 4 He has decided @ in Hawaii after he retires from work.

0 living O  to live
O  having lived [0 to have lived

0 5 I'll move to an apartment is near the university.

O whose O who
O  which O  of which
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Because Switzerland is so small, you might think that there is only one
national language. ( 1 ), you would be incorrect because there are three
official languages. They are German, French, and Italian. (2 ), Switzerland
has three official names: Schweiz (in German), Suisse (in French), and Svizzera
(in Italian). All national laws are published in these languages.

The three official languages plus Romansch are the four national languages
spoken in Switzerland. If you look on Swiss coins or postage stamps, you will
not find the name for this country in (3yany of the national languages. Instead,

you will find the word Helvetia, the Latin name for this coutry
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O First 0 Therefore O Anywhere 0 However
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0 What is more [ As a result O For example 0O In short
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O French O Italian O Romansch O Latin
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01 000000000000o0o0ooon
It depends on your effort not.

0  whether 0 or 0 will
0 you 0 succeed

02 00000000000000D000000
He got the first train.

O to O  catch 0 early
O up 0 enough

03 000000000000000
What English?

O in O you O  this flower
0 call 0 do
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0 1 It depends on your effort whether you will succeed or not.
O 2 He got up early enough to catch the first train.
0 3 What do you call this flower in English?



